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 µtrimmed = 4.24

 µtrimmed = 4.74

 µtrimmed = 4.91

 µtrimmed = 4.76

 µtrimmed = 4.71

 pBonferroni−corrected = 1.85e−12
 pBonferroni−corrected = 0

 pBonferroni−corrected = 0
 pBonferroni−corrected = 1.98e−11

 pBonferroni−corrected = 0.005
 pBonferroni−corrected = 0.002
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(n = 187)
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(n = 52)

age3
(n = 207)
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(n = 207)
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e
value

F trimmed−means(3.73,827.54) = , p = NA, δR−avg
AKP  = −0.06, CI95% [−0.38, 0.25], npairs = 371

SM.C16.0

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant


